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General Instructions:

This is a Subjective Question Paper containing 13 questions.

This paper contains 5 questions of 2 marks each, 5 questions of 3 marks each and 3
questions of 5 marks each.

2 marks questions are Short Answer Type Questions and are to be answered in 30-50
words.

3 marks questions are Short Answer Type Questions and are to be answered in 50- 80
words.

5 marks questions are Long Answer Type Questions and are to be answered in 80-120
words.

This question paper contains Case/Source Based Questions.
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1 Differentiate between real flow and money flow. 2




OR

Distinguish between Capital goods and Consumption Goods with 2
examples.
2
grEdTaeh YaTg 31K \ifge varg & 7 7R Hifav|
3dar 9
YotaTel aE3IT 3N 3TeNeT aEI31T H SeTexvr digd Ae Hifaiv|
Value of which of the following can be greater than one and why? 2
(i) Marginal propensity to consume(MPC) (ii) Average propensity to
consume(APC)
OR
Complete the following table:
Consumption Saving Income | Marginal propensity
expenditure (Rs) (Rs) to consume
(Rs) 2
100 50 150 -
175 - 250 -
250 100 - -
Arafafaa & O fvger A ve 3 3719 g Gepar § 3k F3i? 2
(i) FATT ST g (TAUN) (i) 3T 37T i (vehre)
3ar
i@ drferr s qu i
3THNT ST (B.) | §99(3) | 3T (%) AT 39T TgfaT
100 50 150 -
175 - 250 - 0.5
x2
250 100 - -
Give the meaning of average propensity to save. What is its relation | 2
with average propensity to consume?
3N T I 1 37 TATST| SHeT AT 3TN Tl & a1 Feerg? 2




Households in rural areas generally use wood, dung cake or other
biomass as fuel. This practice has several adverse implications.
Enumerate such implications.

FreoT &9 F IRAR HITAT JTeha), 3Tt AT 37T Std-5eleT T 3TAET
$U & §F A FJ ¢ | 3H TR & S Tfcisher 9877 ¢ | 3T® fAfgard
aals?il

What are the two types of infrastructure? Explain with examples.
OR

Explain the meaning of "carrying capacity of environment"”. How is

it related to the Environment crisis?

MR TITTT & &l YohR T §? 31807 Afed Tase HIfau|

3rqar
"IITOT hY YROT &TAAT & 372 Y e HfSY | Tg TATeR0T Hhe § Hd
gafad g?

The consumption function of an economy is C =100 + 0.8Y.
(a) What is the values of autonomous consumption?
(b) What will be the slope of the consumption curve?

(c) What is the level of income at Break-Even Point?

OR
What change will take place in the economy if aggregate demand
exceeds aggregate supply?

Teh TTEUT T 3THT Hetel C = 100 + 0.8Y T
(37) EATIT YT T Al FATE?
() 3THIST sk T TlTel AT GIITT?
(F) FAEHR g 9T 317 &7 ER FAT8?
3rar
mmﬁwméﬂmaﬁaﬂu AT, FHT 3TYFT A 3170 8
?

In India the percentage of the female workforce is lower as
compared to males. why?

HRA H TE T JolelT & Hfgell Sreel I GTIT A g1 7412

Read the following text carefully and answer question number 8
and 9 given below:




China and India are the two emerging economies in the world. As of
2021, China and India are the 2nd and 5th largest economies in the
world, respectively, on a nominal basis. On a PPP basis, China is at 1st,
and India is at 3rd place. Both countries share 21% and 26% of the total
global wealth in nominal and PPP terms, respectively. Among Asian
countries, China and India together contribute more than half of Asia's
GDP.

In 1987, the GDP (Nominal) of both countries was almost equal; even in
ppp terms, China was slightly ahead of India in 1990. Now in 2021,
China's GDP is 5.46 times higher than India. On ppp basis, the GDP of
China is 2.61 times of India. China crossed the $1 trillion mark in 1998,
while India crossed nine years later in 2007 on an exchange rate basis.
Both countries have been neck-to-neck in per capita terms till 1990. As
per both methods, India was richer than China in 1990. In 2021, China is
almost 5.4 times richer than India on the nominal and 2.58 times richer in
the ppp method. The per capita rank of China and India is 63rd and
147th, respectively in nominal. The per capita rank of China and India is
76th and 130th, resp, in ppp.

China attained a maximum growth rate of 19.30% in 1970 and a
minimum of -27.27% in 1961. India reached an all-time high of 9.63% in
1988 and a record low of -5.24% in 1979. From 1961 to 2019, China
grew by more than 10% in 22 years while India never. GDP growth rate
was negative in five and four years for China and India, respectively.
According to CIA Factbook, the sector-wise GDP composition of India in
2017 are as follows: Agriculture (15.4%), Industry (23%), and Services
(61.5%). The Sector-wise GDP composition of China in 2017 are
Agriculture (8.3%), Industry (39.5%), and Services (52.2%).

(Source
https://statisticstimes.com/economy/china-vs-india-economy.php)

AFITATET AT Y €T § ¢ 3 A TET 7T 9T HEer 8 3 9 &l
3W e

et 3R R gt &1 &F 3R 3rdegaeyv €1 2021 e, et 3R 7R
Fifoeh YR I SHA: AT I g@y AR qredi Fay 987 3rdcgaear g
ATy & TR o) =T Tgel 3R R R T W | kel S el ARG
TUfT T A 21% 3R 26% Aifge 3R drdidT erdt 7 asm &= &1
TfRATg g21t A, et 3R R TATRT TRIAT & Hehel 8] 3cU16 H 3T 4
31T FT TNTETT A &

1987 H gt 21t Fr SHSTdT (Fifge) wrerster sreR T dididY & forgrer @ 8ft
=T 1990 H HRA T 2NST 39T AT| 31 2021 F T Fr NS 97RT & 5.46



https://statisticstimes.com/economy/china-vs-india-economy.php

I[AT STET & | i 3TerR oY <ieT hr SHSIdY 87kl T 2.61 [ & | et o
1998ﬁ1%ﬁ|’€|c‘rrsmuaw‘r3ﬂq«>5|wﬁ?€n SRR HR = 7 aTeT a1 2007
# RAfTHT g7 & 3R 9T 9R R
alelt 421 1990 ook Ui cafehed Hehel BXe] 3cUIG & HIHS! H JTHA-HTHA §
&1 ST adret F 3TER, HRT 1990 # et I 3118 37#R 4T) 2021 &, AT
i TRy #TS7e 31 TRl BT colell 31 STaTSHAT 5.4 T A ey Fafer o
H2. SSWWW%IWH‘\TWH';%WWWQT
63ar 3N 1474t & i 2 et 3R 9Ra 7 9T cafEa I 7697 3R
130ar gl
et ¥ 1970 3 19.30% T 3T dH SIS fdehrar & 31X 1961 7 =ge7dH
-27.27% 9red 7| IR 1988 H 9.63% & Tdahlfeleh 3= 3R 1979 7
-5.24% o N1 Aol TaX W 98T 17| 1961 ¥ 2019 deh, A o 22 gt
3 10% A eI gefT A, aaﬁ:wﬁsa;ﬁaa%mﬂaﬁaﬁnzha
3 AR & T FHen wﬁwaﬁﬂmﬁwamlﬁ
AT
ISV theFedsh o AR, 2017 H HRA HT &FAR SIS EITAT 58 TR
& EF‘I:ET(154% W(z?,%) 3R |ATT (61.5%)1 2017 F DA Fr 3FAR
sn-sﬁtfrmmasﬁr(s 3%), 31T (39.5%), 3R |ATT (52.2%) B |

Explain briefly the various development strategies of China after
reforms.

GURT & dTe; deT &l fafdeeT faepra Tor=ifaat & daiy 7 carear S|

Explain the "Great Leap Forward campaign" of China as initiated in
1958.

el GaRT 1958 # & fhT 1T "I ofiT hREs A" hr T HIfAT|

10

Distinguish between domestic income and national income. When
can domestic income be more than national income?

B 31T 3R USERT 3T & 3{eR TS HTAT| B 31 TS 3T &
30w e g Thal &2

11

What is the Inflationary Gap? Explain it with the help of a diagram.
Explain two monetary measures to reduce this gap.

TR 3T AT 2 Ueh [T I Fg1Iar § 38 TIse FIfav| 37 IR
BT he Flel o Tl aT Al 3UTAT T e HY|
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(a) Calculate 'sales' from the following data;

ltems ¥ (in lakh)
1.Intermediate cost 240
2.Consumption of fixed capital 40
3.Change in stock (-)60
4. Indirect tax 30
5. Net value added at factor cost 300

(b) Giving reasons explain how the following should be treated in
the estimation of national income.
i. Payment of Corporate tax by a Firm.

ii. Purchase of machinery by a factory owner for own use.

OR

(a)From the following data calculate National Income.

Items Rs (in crore)
1.Mixed income of self employed 700
2 Net Domestic capital formation 400
3. Operating surplus 720
4 Compensation of employees 1,900
5. Net indirect tax 400
6. Net Factor income to abroad 20
7. Interest 150
8. Consumption of fixed capital 20

(b) All machines are not Capital goods. Describe.

(37) faFIfarfld 3rehRst & 'Tashl” i IT0TaAT FY;

Ac T (o H)
1.7EIadT ATeTd 240
2. 37T Yot T ITHIT 40




3. Tefe & gRadaa (-)60
4. 39cTeT T 30
5. HILT AT TR YSY Hod I 300

(H)WWWW@%Wmasmﬁﬁﬁmﬁ@aa:mu

T SIGER Tl ST ATy |

i.Uh B ST AT T T 1A |
ii. T SRATA & Alfoleh GaRT TG & 39T & faw AR dr @lic|
(H)ﬁmﬁrﬁaaﬁrsﬁﬁw@waggmﬁﬁv
AT TIY (HU3 A)
1. TSR 1 AT 3T 700
2 ety Te] Yol fAaATor 400
3. J=ITeret 31Ty 720
4 FAARIAT 1 RHTAS 1,900
5. QG 3TVcTaT T 400
6. faclt T Qeer Areret 3 20
7. saTST 150
8. 3Tl il T SUHIT 20

() T FRMe AT TEAT LT BIell ¢ | AT HIT

13

(a) In mid-2020, India's medical tourism sector was estimated to be
worth US$5-6 billion. India is emerging as a destination hub for
medical tourism. Defend the statement with valid arguments.

(b) What are the functions of the environment? Mention any three

functions.

(37) 2020 & #HET H, IRA & RfFcar e &7 FT 7 5-6 WfoT=
aﬂﬁ@rw@ﬁwmmwmm%ﬁqﬂm%m
T 37T the & &G & 331 @ & | AT T & T1Y HUeT T GHIT PITT|

(&) TITEROT & AT H &2 HIS el H1 IdAZY |




